# THEOREMS ON GENOCCHI POLYNOMIALS OF HIGHER ORDER ARISING FROM GENOCCHI BASIS 

Serkan Araci, Erdoğan Şen and Mehmet Acikgoz


#### Abstract

Recently, Kim et al. [8] constructed a new method to obtain interesting identities related to Euler polynomials of higher order arising from Euler basis. In the present paper, we study to Genocchi polynomials of higher order arising from Genocchi basis by using the method of Kim et al. We also derive many interesting properties related to Genocchi polynomials of higher order.


## 1. Introduction

In the complex plane, the Genocchi polynomials are defined by the following condition:

$$
\sum_{n=0}^{\infty} G_{n}(x) \frac{t^{n}}{n!}=e^{t G(x)}=\frac{2 t}{e^{t}+1} e^{x t}, \quad(|t|<\pi)
$$

with the usual convention of replacing $(G(x))^{n}:=G_{n}(x)$, is used (see $[3,6,10,12$, 13, 14, 17]).

As is well known, the Genocchi polynomials of order $k$ are defined via the generating function to be

$$
\begin{equation*}
\left(\frac{2 t}{e^{t}+1}\right)^{k} e^{x t}=e^{t G^{(k)}(x)}=\sum_{n=0}^{\infty} G_{n}^{(k)}(x) \frac{t^{n}}{n!} \quad\left(k \in \mathbf{Z}_{+}=\mathbb{N} \cup\{0\}\right) \tag{1.1}
\end{equation*}
$$

with the usual convention about replacing $\left(G^{(k)}(x)\right)^{n}$ by $G_{n}^{(k)}(x)$ (see [14, 17]).
In the special case, $x=0, G_{n}^{(k)}(0):=G_{n}^{(k)}$ are called the Genocchi numbers of order $k$.

[^0]By (1.1), we easily get

$$
\begin{align*}
G_{n}^{(k)}(x) & =\sum_{l=0}^{n}\binom{n}{l} G_{l}^{(k)} x^{n-l}=\sum_{l=0}^{n}\binom{n}{l} G_{n-l}^{(k)} x^{l}  \tag{1.2}\\
& =\sum_{n=n_{1}+\cdots+n_{r}}\binom{n}{n_{1}, \cdots, n_{r}} G_{n_{1}} G_{n_{2}} \cdots G_{n_{r-1}} x^{n_{r}} .
\end{align*}
$$

From (1.1), we have

$$
G_{n}^{(0)}(x)=x^{n}
$$

By (1.1), it is not difficult to show that

$$
\frac{d G_{n}^{(k)}(x)}{d x}=n G_{n-1}^{(k)}(x) \text { and } G_{n}^{(k)}(x+1)+G_{n}^{(k)}(x)=2 n G_{n-1}^{(k-1)}(x), \quad(\text { see }[14,17])
$$

We now define two linear operators $\Lambda$ and $D$ on the space of real-valued differentiable functions as follows: for $n \in \mathbb{N}$

$$
\begin{equation*}
\Lambda f_{n}(x)=\frac{f_{n}(x+1)+f_{n}(x)}{n} \text { and } D f_{n}(x)=\frac{d f_{n}(x)}{d x} . \tag{1.3}
\end{equation*}
$$

We note that $\Lambda D=D \Lambda$. By (1.3), we have

$$
\Lambda^{2} f_{n}(x)=\Lambda\left(\Lambda f_{n}(x)\right)=\frac{1}{n^{2}} \sum_{l=0}^{2}\binom{2}{l} f_{n}(x+l)
$$

Continuing this process, we get

$$
\Lambda^{k} f_{n}(x)=\frac{1}{n^{k}} \sum_{l=0}^{k}\binom{k}{l} f_{n}(x+l)
$$

Therefore, we acquire the following Lemma.
Lemma 1. Let $f_{n}$ be real valued function and $k \in \mathbb{N}$, then we have

$$
\Lambda^{k} f(x)=\frac{1}{n^{k}} \sum_{l=0}^{k}\binom{k}{l} f(x+l)
$$

Obviously,

$$
\begin{equation*}
\Lambda^{k} f(0)=\frac{1}{n^{k}} \sum_{l=0}^{k}\binom{k}{l} f(l) . \tag{1.4}
\end{equation*}
$$

Let $T_{n}=\left\{q_{n}(x) \in \mathbb{Q}[x] \mid \operatorname{deg} q_{n}(x) \leq n\right\}$ be the ( $n+1$ )-dimensional vector space over $\mathbb{Q}$. Probably, $\left\{1, x, \cdots, x^{n}\right\}$ is the most natural basis for $T_{n}$. But $\left\{G_{k}^{(k)}, G_{k+1}^{(k)}, \cdots, G_{n+k}^{(k)}\right\}$ is also a good basis for the space $T_{n}$ for our objective of arithmetical and combinatorial applications of the Genocchi polynomials of higher order.

If $q_{n}(x) \in T_{n}$, then $q_{n}(x)$ can be expressed by

$$
q_{n}(x)=b_{k} G_{k}^{(k)}(x)+\cdots+b_{n+k} G_{n+k}^{(k)}(x)=\sum_{l=k}^{n+k} b_{l} G_{l}^{(k)}(x) .
$$

In the present paper, we develop methods for computing $b_{l}$ from the information of $q_{n}(x)$ and apply those results to arithmetically and combinatorially interesting identities involving $G_{k}^{(k)}, \cdots, G_{n+k}^{(k)}$.
2. Some Identities on the Genocchi Polynomials of Higher Order

By (1.3), we have

$$
\begin{equation*}
\Lambda G_{n}^{(k)}(x)=\frac{G_{n}^{(k)}(x+1)+G_{n}^{(k)}(x)}{n}=2 G_{n-1}^{(k-1)}(x), \tag{2.1}
\end{equation*}
$$

and

$$
\begin{equation*}
D G_{n}^{(k)}(x)=n G_{n-1}^{(k)}(x) . \tag{2.2}
\end{equation*}
$$

Let us suppose that $q_{n}(x) \in T_{n}$. Then $q_{n}(x)$ can be generated by $G_{k}^{(k)}(x), G_{k+1}^{(k)}(x)$, $\cdots, G_{n+k}^{(k)}(x)$ as follows:

$$
\begin{equation*}
q_{n}(x)=\sum_{l=k}^{n+k} b_{l} G_{l}^{(k)}(x) . \tag{2.3}
\end{equation*}
$$

Thus, by (2.3), we get

$$
\Lambda q_{n}(x)=\sum_{l=k}^{n+k} b_{l} \Lambda G_{l}^{(k)}(x)=2 \sum_{l=k}^{n+k} b_{l} G_{l-1}^{(k-1)}(x),
$$

and

$$
\Lambda^{2} q_{n}(x)=2 \sum_{l=k}^{n+k} b_{l} \Lambda G_{l-1}^{(k-1)}(x)=2^{2} \sum_{l=k}^{n+k} b_{l} G_{l-2}^{(k-2)}(x) .
$$

Continuing this process, we have

$$
\begin{equation*}
\Lambda^{k} q_{n}(x)=2^{k} \sum_{l=k}^{n+k} b_{l} G_{l-k}^{(0)}(x)=2^{k} \sum_{l=k}^{n+k} b_{l} x^{l-k} . \tag{2.4}
\end{equation*}
$$

Let us apply the operator $D^{j}$ on (2.4). Then

$$
\begin{align*}
D^{j} \Lambda^{k} q_{n}(x) & =2^{k} \sum_{l=k+j}^{n+k} b_{l} \prod_{a=0}^{j-1}(l-k-a) x^{l-k-j} \\
& =2^{k} \sum_{l=k+j}^{n+k} b_{l} \frac{(l-k)!}{(l-k-j)!} x^{l-k-j}  \tag{2.5}\\
& =2^{k} \sum_{l=k+j}^{n+k} b_{l} j!\binom{l-k}{j} x^{l-k-j} .
\end{align*}
$$

Let us take $x=0$ on (2.5). Then we get

$$
\begin{equation*}
D^{j} \Lambda^{k} q_{n}(0)=2^{k} b_{k+j} j!. \tag{2.6}
\end{equation*}
$$

From (1.4) and (2.6), we have

$$
\begin{align*}
b_{k+j} & =\frac{1}{2^{k} j!} D^{j} \Lambda^{k} q_{n}(0)=\frac{1}{2^{k} j!} \Lambda^{k} D^{j} q_{n}(0)  \tag{2.7}\\
& =\frac{1}{2^{k} j!n^{k}} \sum_{m=0}^{k}\binom{k}{m} D^{j} q_{n}(m) .
\end{align*}
$$

Therefore, by (2.3) and (2.7), we procure the following theorem.
Theorem 1. For $k, n \in \mathbb{Z}_{+}$and $q_{n}(x) \in T_{n}$, then we have

$$
q_{n}(x)=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k}\left(\frac{1}{(l-k)!} \sum_{m=0}^{k}\binom{k}{m} D^{l-k} q_{n}(m)\right) G_{l}^{(k)}(x) .
$$

Let us take $q_{n}(x)=x^{n} \in T_{n}$. Then we readily derive that $D^{k} x^{n}=\frac{n!}{(n-k)!} x^{n-k}$.
Thus, by Theorem 1, we get

$$
\begin{align*}
x^{n} & =\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k}\left(\frac{1}{(l-k)!} \sum_{m=0}^{k}\binom{k}{m} \frac{n!}{(n-l+k)!} m^{n-l+k}\right) G_{l}^{(k)}(x)  \tag{2.8}\\
& =\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k} \sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} m^{n-l+k} G_{l}^{(k)}(x) .
\end{align*}
$$

Therefore, by (2.8), we get the following corollary.

Corollary 1. For $k, j, n \in \mathbb{Z}_{+}$, then we have

$$
x^{n}=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k} \sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} m^{n-l+k} G_{l}^{(k)}(x) .
$$

In [6, 18] and [20], Bernoulli polynomials of higher order are defined by the rule:

$$
\sum_{n=0}^{\infty} B_{n}^{(k)}(x) \frac{t^{n}}{n!}=\left(\frac{t}{e^{t}-1}\right)^{k} e^{x t}, \quad(|t|<2 \pi)
$$

Let $q_{n}(x)=B_{n}^{(k)}(x) \in T_{n}$. Also, it is well known in [6] that

$$
\begin{equation*}
D^{l-k} B_{n}^{(k)}(x)=\frac{n!}{(n-l+k)!} B_{n-l+k}^{(k)}(x) \tag{2.9}
\end{equation*}
$$

By Theorem 1 and (2.9), we get

$$
\begin{equation*}
B_{n}^{(k)}(x)=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k}\left(\sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} B_{n-l+k}^{(k)}(m)\right) G_{l}^{(k)}(x) \tag{2.10}
\end{equation*}
$$

Therefore, by (2.10), we discover the following theorem.
Theorem 2. For $k, n \in \mathbb{Z}_{+}$, then we have

$$
B_{n}^{(k)}(x)=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k}\left(\sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} B_{n-l+k}^{(k)}(m)\right) G_{l}^{(k)}(x) .
$$

In $[5,8,9]$ and $[14]$, it is well known that

$$
\left(\frac{2}{e^{t}+1}\right)^{k} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{(k)}(x) \frac{t^{n}}{n!}, \quad(|t|<\pi)
$$

where $E_{n}^{(k)}(x)$ are called Euler polynomials of higher order.
Let us consider $q_{n}(x)=E_{n}^{(k)}(x) \in T_{n}$. Then we see that

$$
\begin{equation*}
D^{l-k} E_{n}^{(k)}(x)=\frac{n!}{(n-l+k)!} E_{n-l+k}^{(k)}(x) \tag{2.11}
\end{equation*}
$$

On account of Theorem 1 and (2.11), we get the following theorem.
Theorem 3. For $k, n \in \mathbb{Z}_{+}$, then we have

$$
E_{n}^{(k)}(x)=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k}\left(\sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} E_{n-l+k}^{(k)}(m)\right) G_{l}^{(k)}(x) .
$$

Hansen [19] derived the following convolution formula:

$$
\sum_{k=0}^{m}\binom{m}{k} B_{k}(x) B_{m-k}(y)=(1-m) B_{m}(x+y)+(x+y-1) m B_{m-1}(x+y)
$$

We want to note that the special case $x=y=0$ of the last identity:

$$
\sum_{k=2}^{m-2}\binom{m}{k} B_{k} B_{m-k}=-(m+1) B_{m}
$$

is originally constructed by Euler and Ramanujan (cf. [18]).
Let us now consider the following expression for a fixed $y$

$$
\begin{equation*}
q_{n}(x)=\sum_{k=0}^{n}\binom{n}{k} B_{k}(x) B_{n-k}(y) \in T_{n} . \tag{2.12}
\end{equation*}
$$

Therefore, we derive the following equality:

$$
\begin{gather*}
D^{j} q_{n}(x)=(1-n) \frac{n!}{(n-j)!} B_{n-j}(x+y)  \tag{2.13}\\
+(x+y-1) \frac{n!}{(n-j-1)!} B_{n-j-1}(x+y)+j \frac{n!}{(n-j)!} B_{n-j}(x+y) .
\end{gather*}
$$

From Theorem 1, (2.12) and (2.13), we obtain the following theorem.
Theorem 4. For $k, n \in \mathbb{Z}_{+}$and a fixed $y$, then we have

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} B_{k}(x) B_{n-k}(y) \\
= & \frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k} \sum_{m=0}^{k}\binom{k}{m}\left\{(1-n)\binom{n}{l-k} B_{n-l+k}(m+y)\right. \\
& +n(m+y-1)\binom{n-1}{l-k} B_{n-l+k-1}(m+y) \\
& \left.+(l-k)\binom{n}{l-k} B_{n-l+k}(m+y)\right\} G_{l}^{(k)}(x) .
\end{aligned}
$$

For $\lambda(\neq 1) \in \mathbb{C}$, the Frobenius-Euler polynomials of order $k$ are also known by [1, 2, 15] and [21]

$$
\begin{equation*}
\underbrace{\frac{1-\lambda}{e^{t}-\lambda} \cdots \frac{1-\lambda}{e^{t}-\lambda}}_{k \text {-times }} e^{x t}=\left(\frac{1-\lambda}{e^{t}-\lambda}\right)^{k} e^{x t}=\sum_{n=0}^{\infty} H_{n}^{(k)}(x \mid \lambda) \frac{t^{n}}{n!} \tag{2.14}
\end{equation*}
$$

Let $q_{n}(x)=H_{n}^{(k)}(x \mid \lambda) \in T_{n}$. We readily derive that

$$
\begin{equation*}
D^{l-k} H_{n}^{(k)}(x \mid \lambda)=\frac{n!}{(n-l+k)!} H_{n-l+k}^{(k)}(x \mid \lambda) \tag{2.15}
\end{equation*}
$$

Therefore, by Theorem 1, (2.14) and (2.15), then we get the following theorem.
Theorem 5. The following identity holds true:

$$
H_{n}^{(k)}(x \mid \lambda)=\frac{1}{(2 n)^{k}} \sum_{l=k}^{n+k} \sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} H_{n-l+k}^{(k)}(x \mid \lambda) G_{l}^{(k)}(x)
$$

Dilcher [18] derived the following both interesting and fascinating convolution formula:

$$
\sum_{k=0}^{n}\binom{n}{k} E_{k}(x) E_{n-k}(y)=2(1-x-y) E_{n}(x+y)+2 E_{n+1}(x+y)
$$

Thus, we easily see that $\sum_{k=0}^{n}\binom{n}{k} E_{k}(x) E_{n-k}(y) \in T_{n}$. So, we consider for a fixed $y$

$$
\begin{equation*}
q_{n}(x)=\sum_{k=0}^{n}\binom{n}{k} E_{k}(x) E_{n-k}(y) \tag{2.16}
\end{equation*}
$$

It is not difficult to see the following:

$$
\begin{aligned}
D^{j} q_{n}(x)= & 2\left\{\frac{n!}{(n-j)!}(1-x-y) E_{n-j}(x+y)-j \frac{n!}{(n-j+1)!}\right. \\
& \left.\times E_{n-j+1}(x+y)+\frac{(n+1)!}{(n+1-j)!} E_{n+1-j}(x+y)\right\}
\end{aligned}
$$

As a result of the last identity and Theorem 1, the following theorem can be stated.
Theorem 6. For a fixed $y$, then we have

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} E_{k}(x) E_{n-k}(y) \\
= & \frac{2}{(2 n)^{k}} \sum_{l=k}^{n+k} \sum_{m=0}^{k}\binom{k}{m}\left\{\binom{n}{l-k} E_{n-l+k}(m+y)\right. \\
& \left.-\frac{l+k}{n+1}\binom{n+1}{l-k} E_{n-l+k+1}(m+y)+\binom{n+1}{l-k} E_{n+1-l+k}(m+y)\right\} G_{l}^{(k)}(x) .
\end{aligned}
$$

In the complex plane, the Hermite polynomials, named after Charles Hermite, are given by the exponential generating function:

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(x) \frac{t^{n}}{n!}=e^{2 t x-t^{2}} \tag{2.17}
\end{equation*}
$$

One can also derive the generating function of Hermite polynomials by using Cauchy's integral formula as

$$
\begin{equation*}
H_{n}(x)=(-1)^{n} e^{x^{2}} \frac{d^{n}}{d x^{n}} e^{-x^{2}}=(-1)^{n} e^{x^{2}} \frac{n!}{2 \pi i} \int_{C} \frac{e^{z^{2}}}{(z-x)^{n+1}} d z \tag{2.18}
\end{equation*}
$$

where $C$ is a loop which starts at $-\infty$, encircles the origin once in the positive direction, and the returns $-\infty$ (see [7]).

Let $q_{n}(x)=H_{n}(x) \in T_{n}$. Thus, from (2.17), we have

$$
\begin{equation*}
D^{k} q_{n}(x)=2^{k} \frac{n!}{(n-k)!} H_{n-k}(x) \tag{2.19}
\end{equation*}
$$

Therefore, by Theorem $1,(2.18)$ and (2.19), we arrive at the following theorem.
Theorem 7. The following identity holds true:

$$
\begin{aligned}
H_{n}(x) & =(-1)^{n} e^{x^{2}} \frac{n!}{2 \pi i} \int_{C} \frac{e^{z^{2}}}{(z-x)^{n+1}} d z \\
& =\frac{1}{(4 n)^{k}} \sum_{l=k}^{n+k} 2^{l}\left(\sum_{m=0}^{k}\binom{k}{m}\binom{n}{l-k} H_{n-l+k}(m)\right) G_{l}^{(k)}(x)
\end{aligned}
$$

where $C$ is a loop which starts at $-\infty$, encircles the origin once in the positive direction, and the returns $-\infty$.

Remark 1. By using Theorem 1, we can discover many interesting identities related to special polynomials in terms of Genocchi polynomials of higher order.

## Acknowledgment

The authors would like to thank Professor Wen-Ching Winnie Li for all of her cooperations and helps, as well as the anonymous referee for valuable comments on the present paper.

## References

1. T. Kim, Identities involving Frobenius-Euler polynomials arising from non-linear differential equations, J. Number Theory, 132(12) (2012), 2854-2865.
2. T. Kim, An identity of the symmetry for the Frobenius-Euler polynomials associated with the fermionic $p$-adic invariant $q$-integrals on $\mathbb{Z}_{p}$, Rocky Mountain J. Math., 41(1) (2011), 239-247.
3. T. Kim, S. H. Rim, D. V. Dolgy and S. H. Lee, Some identities of Genocchi polynomials arising from Genocchi basis, J. Ineq. Appl., 2013 (2013), Article ID. 1433166741876263.
4. T. Kim, Symmetry $p$-adic invariant integral on $\mathbb{Z}_{p}$ for Bernoulli and Euler polynomials, J. Difference Equ. Appl., 14(12) (2008), 1267-1277.
5. T. Kim, Symmetry of power sum polynomials and multivariate fermionic $p$-adic invariant integral on $\mathbb{Z}_{p}$, Russ. J. Math. Phys., 16(1) (2009), 93-96.
6. T. Kim, Some identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials, Adv. Stud. Contemp. Math., 20(1) (2010), 23-28.
7. T. Kim, J. Choi and Y. H. Kim, On $q$-Bernstein and $q$-Hermite polynomials, Proc. Jangjeon Math. Soc., 14(2) (2011), 215-221.
8. D. S. Kim and T. Kim, Some identities of higher-order Euler polynomials arising from Euler basis, Integral Transforms and Special Functions, 2013, http://dx.doi.org/10.1080/ 10652469.2012.754756.
9. D. S. Kim, N. Lee, J. Na and K. H. Park, Identities of symmetry for higher-order Euler polynomials in three variables (I), Adv. Stud. Contemp. Math., 22(1) (2012), 51-74.
10. S. Araci, Novel identities for $q$-Genocchi numbers and polynomials, Journal of Function Spaces and Applications, Vol. 2012, Article ID 214961, 13 pages.
11. S. Araci, M. Acikgoz and J. J. Seo, Explicit formulas involving $q$-Euler numbers and polynomials, Abstract and Applied Analysis, Vol. 2012, Article ID 298531, 11 pages.
12. S. Araci, D. Erdal and J. J. Seo, A study on the fermionic p-adic $q$-integral representation on $\mathbb{Z}_{p}$ associated with weighted $q$-Bernstein and $q$-Genocchi polynomials, Abstract and Applied Analysis, Vol. 2011, Article ID 649248, 10 pages.
13. S. Araci, M. Acikgoz, H. Jolany and J. J. Seo, A unified generating function of the $q$-Genocchi polynomials with their interpolation functions, Proc. Jangjeon Math. Soc., 15(2) (2012), 227-233.
14. S. Araci, M. Acikgoz and E. Şen, A note on the $p$-adic interpolation function for multiple Generalized Genocchi numbers, Turkish Journal of Analysis and Number Theory, 1(1) (2013), 17-22. doi: 10.12691/tjant-1-1-5.
15. S. Araci and M. Acikgoz, A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials, Adv. Stud. in Contemp. Math., 22(3) (2012), 399-406.
16. M. Acikgoz and Y. Simsek, On multiple interpolation function of the Nörlund-type qEuler polynomials, Abst. Appl. Anal. 2009 (2009), Article ID 382574, 14 pages.
17. I. N. Cangul, V. Kurt, H. Ozden and Y. Simsek, On the higher-order $w-q$-Genocchi numbers, Adv. Stud. Contemp. Math., 19(1) (2009), 39-57.
18. K. Dilcher, Sums of products of Bernoulli numbers, J. Number Theory, 60 (1996), 23-41.
19. E. R. Hansen, A table of series and products, Prentice-Hall Inc., Englewood Cliffs, New Jersey, 1975.
20. Y. He and W. Zhang, A convolution formula for Bernoulli Polynomials, Ars Combinatoria, 2013, pp. 97-104.
21. K. Shiratani, On the Euler numbers, Mem. Fac. Sci., Kyushu Univ., Ser. A, 27 (1973), 1-5.

Serkan Araci<br>Atatürk Street<br>31290 Hatay<br>Turkey<br>E-mail: mtsrkn@hotmail.com<br>Erdoğan Şen<br>Department of Mathematics<br>Faculty of Science and Letters<br>Namik Kemal University<br>59030 Tekirdag<br>Turkey<br>E-mail: erdogan.math@gmail.com<br>Mehmet Acikgoz<br>University of Gaziantep<br>Faculty of Arts and Science<br>Department of Mathematics<br>27310 Gaziantep<br>Turkey<br>E-mail: acikgoz@gantep.edu.tr


[^0]:    Received February 28, 2013, accepted September 10, 2013.
    Communicated by Wen-Ching Winnie Li.
    2010 Mathematics Subject Classification: 11S80, 11B68.
    Key words and phrases: Genocchi polynomials, Genocchi polynomials of higher order, Bernoulli polynomials, Bernoulli polynomials of higher order, Hermite polynomials, Euler polynomials, Euler polynomials of higher order.

